(To be filled by the concerned Deputy Conservator of Forests)

7. Location of the project/ scheme

(i) State/ Union Territory	:	MAHARASH	ITRA
(ii) District	•	PALGHAR	
(iii) Forest Division		JAWHAR FO	DREST DIVISION
(iv) Area of forest land proposed for divers	vion (in ha) ·	0.6772 ha.	
	$\sin(\sin(\sin a))$.	0.0772 Hd.	
(v) Legal status of the forest	:	R.F. 0.438	8 ha.(0.1515 ha. FDCM)
		P.F. 0.199	8 ha.
			(1)

<u>35 Sec. 0.0386 ha.</u> Total 0.6772 ha

Name of village	Survey No .	Gut No	Cmp. No	Legal Status	Length in mtr	Width in mtr	Area in Sq . Km	Area (Ha.)
Dandaval	Dandaval 54 98 - Private forest (Restored under 22 A)		560	0.500	280	0.0280		
Dandavar	55	56	-	Private forest (Restored under 22 A)	211	0.500	105.5	0.0106
Gonde Bk.	139 B	-	-	PF	160	0.500	80	0.0080
Gonde BK.	173	-	-	PF	560	0.500	280	0.0280
Mokhada	433	-	-	PF	126	0.500	63	0.0063
Sakhari	115	-	-	PF	350	0.500	175	0.0175
Poshere	234,23 3	-	-	PF	390	0.500	195	0.0195
Jawhar	1	-	-	PF	200	0.500	100	0.0100
Kasatwadi	60	23	253	RF	1338	0.500	669	0.0669
	1	1]	RF	323	0.500	162	0.0162
	54	45		RF	149	0.500	75	0.0075
	6	6		RF	369	0.500	185	0.0185
	5	5		RF	139	0.500	70	0.0070
	7	7		RF	282	0.500	141	0.0141
Garadwadi	8	20	252	RF	645	0.500	323	0.0323
Kashivali	25	36	256	RF	1650	0.500	825	0.0825
	44	105		RF	116	0.500	58	0.0058
	9	95	-	PF	450	0.500	225	0.0225
Walwande	59	161	258	RF	730	0.500	365	0.0365
Sakhre	38	18	-	PF	160	0.500	80	0.0080
Jambhe	78	140	233	RF	3030	0.500	1515	0.1515
	75	132	-	PF	550	0.500	275	0.0275
Vikaramga d	60	185	-	PF	550	0.500	275	0.0275
Onde	2	5	-	PF	500	0.500	250	0.0250
Total							0.6772	

(vi) Density of Vegetations

: Average density of the forest in the area is below 0.5

Scanned by CamScanner

(vii)	Species-wise (Scientific names) and diameter class-wise enumeration of trees (to be enclosed) in case of irrigation/ hydel projects enumeration at FRL, FRL-2 meter & FRL-4 meter also to be enclosed.	:	No tree felling
(viii)	Brief note on vulnerability of the forest area to erosion.	:	No. The area is not prone to the erosion
(ix)	Approximate distance of proposed site for diversion from boundary of forest.	:	The proposed ROW falls within forest land. A map Showing exact Location of the ROW is inclosed.
(x)	Whether forms a part of National park, wildlife sanctuary biosphere reserve, tiger reserve, elephant corriodor etc. (If so, the details of the area and comments of the Chief Wildlife Warden to be annexed)	:	No. The proposed site is not part of National park, Wildlife Sanctuar, Biosphere Reserve, Tiger Reserve, Elephant Corroder, etc.
(xi)	Whether any rare/ endangered/ unique species of Flora and Fauna found in the area- if so details thereof.	:	No.
(xii)	Whether any rare/endangered/unique species of Flora and Fauna found in the area is so details thereof.	:	No.
8.	Whether the requirement of forest land as proposed by the user agency in Col. 2 of part-I is unavoidable and barest minimum for the project. If no, recommended area item-wise with details of alternatives examined.	:	Yes the demand for the required forest land as proposed is unavoidable bares minimum demand for the project.
9.	Whether any work in violation of the act has been carried out (Yes/No) if yes, the details of the same including the period of work done, action taken on erring officials. Whether work in violation is still in progress.	:	Yes. The detailed violation report attached separately in a proposal.
10.	Details of compensatory Afforestation scheme		
(i)	Details of non forest area/degraded forest area identified for compensatory Afforestation. Its distance from adjoining forest number of patches size of each patch.	:	Degraded forest area of 1.00 ha. at Nimbapur c.no.1 have been identified for compensatory afforestation. The map of forest area is attached in a proposal.

Scanned by CamScanner

(ii)	Map showing non forest/ degraded forest area identified for compensatory Afforestation & adjoining forest boundaries.	:	Map attached on page no.
(iii)	Detailed compensatory Afforestation scheme including species to be planted, implementing agency, time schedule, cost structure etc.	:	Species to be planted-Local Species Implementing Agency: Jawhar Forest Division Time Schedule: 07 years Cost Structure: As prescribed by APCCF (Nodal) M.S.Nagpur
(iv)	Total financial outlay for compensatory Afforestation scheme.	:	As enclosed page No.
(v)	Certificates from competent authority regarding suitability of area identified for compensatory Afforestation and management point of view (to be signed by the concerned Deputy Conservator of Forests)	:	Certificate enclosed Page No.
11.	Site Inspection report of the DCF (to be enclosed) especially highlighting facts asked in Col. 7 (xi, xii), 8 and 9 above.	:	Site inspection report enclosed page No.
12.	Division/District profile	:	Jawhar Forest Division Dist- Palghar.
(i)	Geographical area of the district	:	9558.00 ha.
(ii)	Forest area of the district	:	96684 ha.
(iii)	Total Forest area diverted since 1980 with number of cases.	:	12
(iv)	Total compensatory Afforestation stipulated in the District/ Division since 1980 on	:	
	(a) Forest land including penal compensatory Afforestation.	:	252.608 ha.
	(b) non forest land	:	-
(v)	Progress of compensatory Afforestation as on (date) 31/03/2016 on	:	
	(a) Forest Land	:	252.608 ha.
	(b) Non-Forest Land	:	-

Specific recommendation of the DCF for : acceptance or otherwise of the proposal with reasons.

Optical Fiber cable project are mainly to provide the people of under developed areas with reliable and high speed media connectivity, which is very important in current days to develop information and technology. Hence the proposal is being recommended for approval for diverting the requied forest land under Forest (Conservation) Act, 1980..

(Amitkumar Mishra) **Deputy Conservator of Forest** Jawhar Forest Division

Place:- Jawhar

Date :- /12/2018

13.